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‘-’ R waT = SaTe € 7

(A) sT=EaTE wHE

(B) wHURA wA™

(C) Tegey HHH

(D) &5 9H™

Ja’ wreg Y Ieafy forem arht st ®
(A) |

(B) Wi

(C) 1

(D) &=

¥ oot fA-Rrr et Fama e g ?
(A) S+

(B) T+ + A

(C)S+37

(D) & + =

TETE % U ol T whY 1 ed & 7
(A) =

(B) uit

(C) A=

(D) siftrerem
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3.

gt % e A gerR e R
(A) g we g

(B) frgt & fre s

(C) firh & ¥a1 B

(D) forgi-forgh &t s
‘Tt e R 7
(A) =™

(B) el

(C) goriera
(D) YH==

‘ugTe Ze e e R

(A) feafs s

(B) w&rs fir

(C) =g T

(D) T =
Fraforfaa # & w-o e fifem 2 ?
(A) T

(B) &

(C) @

(D) &®
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10.

1%

12.

‘Rrad a9 ot 7 & % g Igw
e Y 7

(A) @it

(B)

(C) e

(D) 3R

T8 Fom & forma @ | wites @ A 99
FEHE !

(A) TR

(B)

(C) =

(D) &R

W 7€ R | g A § T e
amR e

(A) safeaTeF

(B) wHgaT=®

(C) nfearesh

(D) ==
‘e’ e e # fora g ¢
(A) ST

(B) Wil

(C) smh

(D) =l
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13.

14.

16.

16.

TGS i qegd WTeT HA-d R 7
(A) B
(B) rgd ()

(C) guerdt
(D) e

¥ A 1% = g
(A) srgfea

(B) srgE

(C) sy

(D) ¥y

T @ fran eg ‘uell’ & vaigai € 7
aguT, I, 9y, I, al |

(A) 3 ()

(8) 2 ()

(C) 5 (dta)

(D) 4 (3W)

‘efit-+fRt g TR e e |
ama § ‘WR-oR’ i ‘s w7
(A) farsm

(B) i

(C) Tora faton

(D) &M
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17.

18.

18.

20.

21.

X+ =AM 7

(A) H37

(B) =

(C) w31

(D) 7=

aR ‘reen’ % R wom, w ¥ R
faefra, ‘i’ & Rl e ) o it
% ford i 7

(A) ug

(B) daw

(C) =gd

(D) =

G - e g 7

(A) srefivry

(B) g%

()

(D) Iuwnf

&=t s & vt & F-wn vl
27

(A) ¥ Toq

(B) 3um gy

(C) W qey

(D) 37 yow

‘T w1z 1 s B 7

(A) =l

(B) =wfash

KW - 1C/24

(4)

22.

23.

24,

25.

(C) wafi
(D) =it

¥H R B afoeTES W ?
(A) Tram

(B) M

(C) =

(D) wet

Frefafan Rewedt & @ sfifim wee
'g'ﬁ'lz:

(A) =

(B) W

(C) wie

(D) g&
ﬂnﬁaﬁwﬁwﬁﬁm-mmw
LiiR

(A) wTE=H

(B) wmor

(C) smmem

(D) stei .
Frerferfaa feredt § 3 Rt et
o e I it g ;

(A) Eu-w@ie

(B) Tira-fon

(C) TEw-g=areh

(D) w&-gur
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ATTHE Jrgal

Mental Ability

ST (To Fo 26 7 28) : TeF Fe 7 T TF U GUEIT-SAFT @ T & | T ST F G T
g &) 77 o & A (A), (B), (C) @97 (D) S-S F1 RET | I6 T ) AT S 157 39
RS T2 FT-SHTHA % T 7 4 ¥ e e et 8 o -3l #5792 3 aww @ e & |
a8} 3 g7 OMR FoR-97% 4 & 5 % 377 g 718 e (A), (B), (C), (D) & H< & 7t @it
T ) Tt Sl 97 7 T |

Direction (Q. Nos. 26 to 28) : There is a problem-figure on the left-hand side, a part of
which is missing. Observe the answer-figures (A), (B), (C) and (D) on the right-hand side
and find out the answer-figure which without changing the direction, fits in the missing part of
the problem-figure in order to complete the pattem in the problem-figure. Select the correct
answer in the OMR Answer Sheet next to each question below the options (A), (B), (C), (D)
by filling up the blank space with black dot pen.

- ST IR

Problem-figure Answer-figure

26.
(D)
5 5 e g
(A) (B) (©) ()
K By (5 g

(A) (B) ©) (D)

KW -1C/24 (5) (Turn over)



29.

30.

31.

32.

33.

AT gl ? H) 9anEy

Find the missing ‘?’ Number :

7,9,13,21,7?
(A) 30 (B) 32 (€ 35 (D) 37
i faw e o forer s & 7

How many rectangles are there in picture given below ?

(A) 10 . (B) 15 (C) 18 (D) 16

Ife fordt g § MADRAS 9 NBESBT feran sman 2, 6t BOMBAY &) @1 v s ?

In a certain code, MADRAS is a coded as NBESBT ; how BOMBAY would be coded

in that code ?

(A) CPNCBX (B) CPOCBZ (C) CPNCBZ (D) cQocsz
T A S g e R, 3 Fanu

(A) B (B) =t (C) @ (D) sTa
Find the odd-man-out from the following :

(A) Triangle (B) Square (C) Circle (D) Rectangle

AT w7 Sy
Find the missing ‘?’ Number :
29, 34, 32, 37, 35, 40, ?

(A) 24

(B) 27

(C) 36

(D) 38

KW - 1C/24 (6) Contd.
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34, TFERCHFA@AMBREICHAIADIDFATGRI TR ?

(A) &R
(B) ¥
(Cy =r=h

(D) =T
Aand B are two sons of a farmer C. C has a danghter D. How is D related to A ?
(A) Sister
(B) Daughter
(C) Aunty
(D) Uncles -

AT (W0 To 35 B 37) : I=F F77 ¥ Gl 31 T GHEAT- ST T 7T SR TR Fer- g taat
(A), (B), (C) &1 (D) & 7t & | 3w-SATepTd %) 7T o1} - AT 1 39 G % FoeeT

#gvy §1 57 T w1 XY W@ 7 8§ | g I GI# OMR Iw-vaw § 87 9vT & A4t Re 1
fae7 (A), (B), (C), (D) & 718 a7 mer @reft & 1 F1t gle 97 @ W &HfRie

Direction (Q. Nos. 35 to 37) : There is a problem-figure on the lefi-hand side and four -
answer-figures marked (A), (B), (C) and (D) are given on the right-hand side. Select the

answer- figure which is exactly the mirror image of the problem-figure when the mirror is

held at XY. Select the correct answer in the OMR Answer Sheet next to each question

below options (A), (B), (C), (D) by fiiling up the blank space with black dot pen.

TR - TR TR HTH

Problem-figure Answer-figure

- X
N8 N

Y
(A) (8) (C)
X =
o H S | &
¥
A (8) (C) (D)
KW - 1C/24 (7) ( Turn over)
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Problem-figure Answer-figure
X RS LD ’-1-' Zil
37. Lf_' I :
o N
Ry |
(A) (B) (C) (D)

38. W HH F TEH UF @l HAK A @2 ¥ | TF 9gH T HY o9 3N @ 93 W
? | 3% 1 8 g fome e ¥ 7
Boys of a class are standing in a long line. One boy is 9th in order from both the ends.
How many boys are there in the class ?
(A) 17
(B) 18
(C) 20
Dy 21

9T (0 do 39 W 42) : T YT F AT T Wk G- 3 T B | 3 S O
w3 81 &l wE & (A), (B), (C) 791 (D) IW-3Haa 1 A | 37 i # ghg ot st
PR R G-3RI VT B 5 TR 2 Aelt & 19 G-t #7 927 96 avg @ smar d |
@&l 3 g OMR J00-99% ﬁﬁm%mﬁﬁqwﬁw:m) (B), (C), (D) F 19 73 Mer @rer
T 1 FeT &2 97 8 W A |

Direction (Q. Nos. 89 to 92) : There is a problem-figure on the left-hand side, a part of
which is missing. Observe the answer-figures (A), (B), (C) and (D) on the right-hand side
and find out the answer-figure which without changing the direction, fits in the missing part of
the problem-figure in order to complete the pattem in the problem-figure. Select the correct
answer in the OMR Answer Sheet next to each question below the options (A), (B), (C), (D)
by filling up the blank space with black dot pen.

-3 I-ATHER

Problem-figure Answer-figure
- N S
(A) (B) (©) (D)

KW — 1C/24 (8) Contd.




40.

41,

42.

43.

- SR TR- AT

Problem-figure Answer-figure
R Pl BSSR
: .
| A (8) (©) (D)

=

T ST SR A ST Y6 e @ 39 5 Reiieier ufterm 4 i s §, ik sw aw anf
3R gea 5 Freinfier e @ | : 9t 3R geat 5 et <ot 2 | 98 & 9 &
o A fret g w R ?

Mohan starts from his house and walks 5 km west, then he turns left and walks 5 km,

then again he turns left and walks 5 km. At what distance is he from starting place ?
(A) 6km (B) S5km (C) 7km (D) 10km

e Wik Y 3 Yha FQA q Sl FEdt B, WRIMF R aE FiAg AR | T
afgren stsreft & wT$ =Y T et R 7

(A) =t (B) =t (C) =r=h (D) wdlsn

By indicating towards a lady, Anjali said, “She is the mother-in-law of my uncle’s
elder brother.” How is that lady related to her brother ?

(A) Grand-son (B) Grand-mother (C) Aunty (D) © Nephew

KW - 1C/24 (9) (Turn over)



45,

46.

fiw T freredt & o8 wret AT S “MANIPULATE” & sierl 1 S ok gt amn s
Hehdl ¢

Select the word from the given choices which can'’t be framed by using the letters of
the word “MANIPULATE” :

(A) POLLUTE

(B) PLATE

(C) PINT

(D) MANTLE

YT U I A AT 3wt G T ], J8 ! T A § R G W w R, A
w1 H4 ?

(A) gfer 1 gl H

(B) W &w M, 7§ 39 W F won @ R

(C) I8 AraT 9 HH % foru or0rg e

(D) I® S HM

Your neighbour is listening fast music and this is disturbing you in your work. What
will you do ?

(A) Inform the Police
(B) Heis listening in his own house, so let in play
(C) Iwill request him to lower the volume

(D) |Iwill beat him

13391 (To To 47 N 48) : 7 WISzl & N T2 314 &1 Fie et 3% 97 F 9 4 2 g
81 35t % e #1 v ik e 7T ¥ F 3T OMR IT-93% 4 &ifard -
Direction (Q. Nos. 47 & 48) : The capital letters in each of the following words are coded as

figures on the right side. Find out the codes for the letters and answer the questions in the
OMR Answer Sheet :

s/RONG O + + A @\
WET 9% O +

s;iRnG O+ A @)\
DENSE Do @ Q ©
BELONG @ © X A @ \

KW - 1C/24 (10) Contd.



47. “STOLEN'FIHEHA R 7
Which is the code for “STOLEN" ?
A 0 XOX@® -+
B O++xoC @
© +OA+x0O
o O+Axo @

48. “DRESSING’ #IFIgHH # 7
Which is the code for “DRESSING” ?
WwO+o00A@|
B XxX+oQAe|+
©c +-0oc00AC+

Oy B%oO0AD]

@8l 3T g9 OMR 3W-93% 7 & 9% & 37 2 ¢ faweq (A), (B), (C), (D) # ¥ a3 mer
@At T F1 FIet Sie 97 @ W T |

Select the correct answer in the OMR Answer Sheet next to each question below options
(A), (B), (C), (D) by filling up the blank space with black dot pen.

R (0 To 49 31 50) : g 77 Fot %) agh TE AT £ -7 e b w9 @
g1 el #) aege T 8 7 OMR -9 4 3w & /

Direction (Q. Nos. 49 & 50) : Consider the given statements are true, then decide
which of the conclusions drawn can be logically confirm both the statements ? Asnwer in
OMR Answer Sheet.

49. FUA : e 5o § wft vew faendt 7 §, s d it v R I PPl e maew @
fred -
() PEE@wa?|
m Puf?|
(A) Faa () @R
(B) e (Il) Gt 2
(C) (1)@= (1) ST v &
(D) +wEwdh e

KW -1C/24 (11) (Turn over)



50.

Statement : in a Sports Club all the members are not players, but all of them are rich.

Mr. P is a member of the Sports Club :

Conclusions :

(A)
(B)
(C)
(D)

() P playsthesport.

(M Pisrich.

Only (1) is correct

Only (Il) is correct

Both (I) and (ll) are correct

None is correct

HAT ; B e § Wit o Ry § | de dureh A R
frend :

(A)
(B)
(€
(D)

Statement : All the students in my class are bright. Sohan is not bright.

O W FMF TR
) FSIEAITAR |
Faa () vt @

et (1) gt R

(1) 7 (1) 3wt &

1§ wEl 7 2

Conclusions :

(A)
(B)
(C)
(D)

() Sohanis not a student of my class.
() Some students are not bright.
Only (1) is correct

Only (l1) is correct

Both (1) and (Ii) are correct

None is correct

KW - 1C/24 (12)

Contd.
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MATHEMATICS
51, 16-16+2FAAE: ' (B) 0.01
The value of 16— 16 + 2 is : (C) 1
(A) 8 (D) 10
(B) 05 5 :
55 — I UqIa ®9E:
(C} 1 2 4
5
D) 3 The percentage form of 2 is:
Decimal form of 1.25%is : (B) 12.5%
(A) 0.0125 (C) 1.25%
B) 1
T (D) 0.125%
(C) 3
(D) 1.25 56. 225 +\/éz-\/‘_|_ =
(A) 09
53 s FIHAR :
SO ’ B 9
57 - (C) 19
The value of 017 is:
(D) 1.9
(A) 0.03
2 5
B) 0.3 57. (0.9)2 seR ? :
Gy 3 (0.9)2is equalto :
(D) 30 {A) 0.81
54. 200 &1 5% 1 10% T & ? (8) 0.081
What is 5% of 10% of 200 ? (C) 0.0081
(A) 0.1 (D) 8.1
KW - 1C/24 (13) (Turn over)



58.

59.

60.

61.

1.50 %o wfer Uftret it = @ 150 IR
EaRe ! 3’!7" 2

The cost of 150 pencils at the rate of
Rs. 1.50 per pencil will be :

(A) Rs.200

(B) Rs. 150

(C) Rs.225

(D) Rs.250

‘a’ 1 9 1 F 42 8a = 352 - 272
Find the value of ‘a’ if 8a = 352 -
272;

(A) 60

(B) 62

(C) 63

(D) 64

7T-(-12)wuAe:

The value of 7 - (- 12)is :

(A 5

(B) 19

(C) -5

D) 7

gfR3:21::x: 35 xHAAR :
1f3:21::x:35thenthe value of xis :
A 7

(B) 5

(C) 21

(D) 35

KW - 1C/24

(14)

62.

63.

64.

182 0.00182
R 13 > 140 5 WL
182 0.00182
|f—;1—3‘— = 14 then the value of 0013
is :
(A) 0.14
(B) 1.4
(C) 14
(D) 0.014
8927 + 286 + 3641 T R :

8927 + 286 + 3641 is equal to :
(A) 9213

(B) 11854

(C) 12854

(D) 11754

J—aﬂz %maonot:

3
TheL.C.M f—1- d-5--’5'
eL.C.Vi.O 3 an 6 IS .
1
A) =
5
(B) re
5
(C) 3
6
(D) 5

Contd.



65. UFAFAEH 12 FTORAME | NEA I

66.

67.

KW - 1C/24

T U ANUTE W I WY, O foerd
uTT gHA F 3R BT 9 | # R
e | 91 & yw I SiFe &

Tﬂ"!%:

A chocolate has 12 equal pieces.
Mohan gave one fourth of it to Aman,
one third of it to Suman and one sixth
of it to Sohan. The no. of pieces of

chocolate left with Mohan is :
(A) 1
B) 2
) 3
(D) 4

12, 16,48 HI Ho Wo R :
HCF of 12, 16,48 s :
(A) 4
(B) 6
(C) 16
(D) 48

32143 FEHI TR ;

The place value of 3in 3521 is :
(A) 3

(B) 300

(15)

68.

69.

70.

(C) 3000

(D) 0.3

25%0 H120% @ :
20% of Rs. 25 is :
(A) Rs.2

(B) Rs.3

(C) Rs.4

(D) Rs.5

forelt g = foshe o QT 0 W
™ i o B ST & A ey wfvwra R

If selling price is doubled, the profit

triples, the profit percentis :
2

(A) 663

() 100
]
(€) 105

(D) 120

0.1 franufee@0.012 7

0.01is what percentof 0.1 ?

1
A 700
s

o

®) 10

(C) 10
(D) 100

(Turnover)



71.

72.

73.

wWhadxwame:

The value of x in the figure is :

3x

(A) 300

(B) 60°

(C) 45°

(D) 90°

et g & =it o e e
& w2 :

The maximum possible number of

acute angles in a triangle may be :

(A) 0

(B) 1

C) 2

(D) 3

10 Hi=X o I T IR FR
w3 ot Aot Zrgelt @ qofern g R |
afe yee 2rge ) wvad 50 ST Al
0 3TTavae 2l Y e Ten

Floor of square room of side 10

meters is to be completely covered

with square tiles, each having length

KW - 1C/24

(16)

74,

75.

of 50 centimeters The minimum

number of tiles needed is :
(A) 200
(8) 300
(C) 400
(D) 500

1

(\/6—4)5' FUAR

The value of (J6—4 )% is :

(A) 1
(B) 2
(C) 3
(O) 4
U ataet # 750 foreft gu s stan € e
Wt 6 diaal W uE w1 § i R

ST 8 1 450 et gu & Rl srravas
ﬁ?ﬁﬁaﬁm%

750 ml milk is filled in one bottle and
six such bottles are packed in one
carton. The number of cartons

needed for 450 litres of milk is :
(A) 75

(B) 80

(C) 90

(D) 100

Contd.



HAHTY AT (GK)
Te AT fa (6S)

76. TH T HT TN FHEl o o1 ? 78. rarafel &% AR IR 7

(A) ferga (A) gerieE

(B) = (B) Wz ¥

(C) e (©) =wEfif

(D) TR (D) ifFm =

Where did Gautam Buddha born ? Who is the author of Gitanjali ?

(A) Patiiputra (A) Tulsidas

(B) Sanchi (B) Ravindranath Tagore

(C) Lumbini (C) Varah Mihir

(D) Bodhgaya (D) Bankim Chandra
77. FR-myUdE e Fadft A dwe® | 79, wwa # swwEh aEtew fRwd gE

qge 3T 7 o ?

(A) e (A) TR AEE

(B) W (B) weTe et

(C) ®wie (C) widraTa Jew

(D) gHTE (D) Fuw =3 =

Which Europian country came first Who started Non-Co-operation

to India ? Movement in India ?

(A) England (A) Jawaharlal Nehru

(B) France (B) Mahatma Gandhi

(C) Holland (C) Motilal Nehru

(D) Portugal (D) Subhash Chandra Bose
KW -~ 1C/24 (17) ( Turn over)



80. mwaﬁmﬂmﬁmaﬁﬁ

81.

WTH % § 7

(A) ST

(B) gaawr

(C) swmmTg

(D) T & o ff

in the night which star tells us north
direction 7

(A)
(B)
(€)
(D)

Ursha
Polestar
Utlarashadh

None of these

el WA GRS N F DG TG
feean 7

(A) Fult

(B) Fen

(C) (A) 3R (B) 3R

(D) ¥ @ =% et

While chewing which jaw of a cow

moves ?
(A)
(B)
(©)
(D)

Upper
Lower
Both (A) and (B)

None of these

KW - 1C/24

(18)

82. W@%mmmwﬂﬁm -

83.

o7 ?

(A) ey

(B) wmA™

(C) s

(D) FfAR

Where Lord Buddha delivered his

first sermon ?
(A) Kapilwastu
(B) Sarnath
(C) Bodhgaya

(D) Kushinagar

Tt o) HIAT 1 H R

(A)  HiRram FElte

(B) Fftm wethe

(C) wifeam weirmgs

(D) forer urg

The hardness of water is due to :
(A) Calcium carbonate
(B)
(C)

Calcium sulphate
Sodium chloride
Zinc metal

(D)

Contd.



84, ISR :

85.

86.

(A) e g

(B) fhmm

(C) fir

(D) =g

Ozone is : .
(A) Elementary gas
(B) Mixture

(C) Compound
(D) Atom

e # @ g o g AA-H R 7
(A) T

(B) HTH TrRATFES

(C) Hferm

(D) AT

Which of the following is the main
poliutant gas ?

) H,

(B) SO,

(C) He

(D) N,

YIS o AT R

(A) &5

(B) s

(C) hw

(D) it @t

Light year is the unit of :
(A) Time

KW - 1C/24

(19)

87.

88.

(B) Velocity

(C) Distance
(D) Energy

g & Mz e § -
(A) Tu

(B) T

(C) Fewfa

(D) T

The planet nearest to sun is :
(A) Mercury

(B) Mars

(C) Jupiter

(D) Venus

f&T el TIeY IE @Al & 3R gafer

 EEE

(A) wrETEr

(B) waterd

(C) wmerterd

(D) sreaerd

Deer eats only plant products and so

it is called :
(A) Carnivore
(B) Omnivore

(C) Herbivore

(D) Less Eater

(Turnover)



89.

90.

91.

e i s 2 2 e & 7
(A) Wl

(B) W& GATGRATS Het

(C) TR TATTAS Aot

(D) @«

Malaria disease is spread through
the bite of which insect ?

(A) House-fly
(B) Female anopheles mosquito
(C) Male anobheles mosquito

(D) Bed bug

AT TaTE TG | T HT DA :
(A) weaR

(B) weand

(C) eraaftia Tean 2

(D) 9 wrzar & TR srgan &

With increase in atmospheric

pressure the boiling point of water :
(A)
(B)
(C)
(D)
e # A it sl it wme srferera
gnft 7

(A) s

Increases
Decreases
Remains constant

First decreases then increases

KW -1C/24

(20)

92.

@

- (©)

(B) Fafa

(C) =

(D) w1

In which of the following the speed of
sound is maximum ?

(A) Water
(B)

(C)

Vacuum
Steel
(D) Air

geaft Y wag W et T 1 TemE o
T

11.2m/s

(B) 11.2km/s
4.9m/s
(D) 19.6km/s

The value of escape velocity of an
object on the surface of the erath
is
(A) 11.2mis
(B) 11.2km/s
(©)

©)

49m/s

19.6 km/s

Contd.
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Targ

(A) den

(B) e

(C) &

(D) =&

The colour of the flame, when

maximum heat is produced

becomes :
(A) Yellow
(B) Blue
(C) Green
(D) Red

arvelta af-sre €, O
(A) ﬁt—cl

(B) i

(C) Tasor

(D) e gt

Acid rain-water is a/an :
(A) Element

(B) Compound

(C) Mixture

(D) Dirty water

(21)

05. we ¥ wygw fhemie R urg =1 3w g
 Sus wa o @ B R 7

(A) Cu

(B) Fe

(C) Te

(D) W

Which of the following is the symboi
of the metal used as bulb-filament ?
(A) Cu

(B) Fe

(C) Te

(D) W

96. fir & | #-71 vard sudurdt T & 7

(A) R

(B) stifraw wemoTe

(C) wmnfE

(D) ¥feram wraz

Which of the following substance
does not sublime ?

(A) Camphor

(B) Ammonium Chioride

(C) lodine

(D) Calcium Carbonate

(Turn over)



97, WREYE & FIAT JEHHA 1 AW TR 7
(A) for Wi
(B) srgeme A
(C) G T™
(D) g qval
What is the name of Present Chief
Minister of Jharkhand ?

(A) Shibu Soren
(B) Babulai Maljandi
(C) Raghubar Das
(D) Arjun Munda

08. Wy wYaWw & ferdl graw fRe W
a3 e @ 7
(A) & HR HE AHIATRTES
(B) sHtaeiow e e
(C) w1 3R FrEA SrgeTaTss
(D) et iR Sfafrom
Which raw materials are used by the
piants for photosynthesis ?
(A) Water and Carbon Monoxide
(B) Oxygen and Nitrogen

- (C) Water and Carbon dioxide

(D) Water and Oxygen

99, Sz fraew ywave Ts & ey @

% orafem g ?
(A) Tem
(B) =R
(C) wgeEm
(D) e

Netarhat Vidyalaya is located in which
district of Jharkhand State ?

(A) Gumala
(B) Latehar
(C) Lohardaga
(D) Daltenganj

100.Frfarfiga & # frwt sfiat Graet st
Foeh! Bt 8 7
(A) T
(B) wg=
(C) usht
(D) =&
Which of the following have hollow
and light bones ?
(A) Cow
(B) Man
(C) Bird
(D) Fish

KW ~1C/24
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